Homework Assignment 6
(Due 4:10pm, Mar. 8)

forVg =0 (V) and Vz = |Vf}—” ).

VB - G
Vg = |Vip|/4

@ NFETl V(;g’“ = V_,1 < V;_”_: OFF
PFET: Vg(;_p = Vf}n - VB = IVI.pI: ON
Vy = Vpp i
Vspp = Vop — Vop = 0 < Vs — [V |: Linear

(@) NFET: Vgs,n = V4 > Vit ON
Vosn = Vpp — 0 > Vs, — Vit Saturation
PFET: Vsgp = Vpp — Vg > |V, |: ON
Vi = Vpp
Vspp = Vop = Vpp = 0 < Vs, — |Vip|: Linear

(1) [DC Analysis, 40 points] Draw two DC curves (V, vs. V;) for the following circuit

(3)NFET: Vgs,,, = V4 > Vi, ON, Saturation
PFET: VSG,;J =Vpp — Vg > |V;_p|: ON
Vi = Vpp/2
Vsp,p = Vop — ""JTD > Vsgp — Vipl: Saturation

@ NFET: Vs = V4 > Ven: ON, Linear
PFET: Vgﬁ_p = VDD - VB > |Vn,|: ON
V=0
_ Vpp ; .
V_gn.p = Vpp — =2 > Vg(;.p - |V[p|. Saturation



